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01 A3l EE & 56l = 96,559 90,620 5,939
OJ=daE2H=2 X HMEHS 96,559
= 77,247
< 9,656
Al 9,656

Yoo (D= FR2LISINA)(BX) 234,468 240,558 26,090
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OJIz=sSi 3823 go X& 234,468
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OMol 5 w=sH S 400
< 400
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< 108,562
Al 108,562
11T M SXASEX 1,085,616 913,115 172,501
OXNZ A HAEIA EXFALS 1,085,616
Xl 868,492
< 108,562
Al 108,562
I=ZCWIAY KB (EX) 32,000 30,000 2,000
< 8,000
Al 24,000
307 21201 A 32,000 30,000 2,000
< 8,000
Al 24,000
11T A SXAIEE = 32,000 30,000 2,000
OJI2A s HANN 2 XA 32,000
= 8,000
Al 24,000
dO ES 7,000 7,000 0
301 et d=s 4,000 4,000 0
NJIEEd=s 4,000 4,000 0
O X Xl &bl 1,000, 000& 472 4,000
307 glz2tol & 3,000 3,000 0
01 922 F 24l 3,000 3,000 0
O™H X 25| 20,000& »150H 3,000
MAs=0 30A2EEE X2 60,000 60,000 0
301 et a3z 60,000 60,000 0
01 AR 2Z A 53 60,000 60,000 0
ONASZEY 2wIAYBHEE
4,600,000& x12& 55,200
OMAS=0 HIILQLEEZ  400,000& 122 4,800
SFAAUOIME MIIR=E XN&A 7,200 7,200 0
301 gt d= 7,200 7,200 0
01 Ml28HE 6= 7,200 7,200 0
OSFUUOIE Iz X
600,000 128 7,200
3| Y =X X2 382,028 144,456 237,572
= 200,386
Al 181,642
SEAt ZelAb 21l XA (EX) 90,972 132,456 ANA41,484
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Al 45,486
101 @124l 90,972 88,056 2,916
= 45,486
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= 58,800
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02 8323l 3,956 4,000 A44
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OSlY=XXAE LREAY|
20,0003 x110 «2H 4,400
O52 & 0t sld=sxaEs 24 1,500
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307 glz2tol & 20,680 0 20,680
< 5,504
Al 15,176
11T M SXASE EX 20,680 0 20,680
OAt2 X2 SALR SE=E 13,680
< 4,104
Al 9,576
OAMtgl=X&2 NE9=2Xsz208 X 7,000
= 1,400
Al 5,600
A2 =X2 X2 320,000 280,680 39,320
307 gl2tol & 320,000 280,680 39,320
05 BIZHRIE 3 320,000 0 320,000
Od&d A= 29 320,000
A2 2| 63,532 63,532 0
SAZRRF 2L 63,532 63,532 0
301 et d = 63,532 63,532 0
0B A =R RAB LS 63,532 63,532 0
OMI =223 SAHI(MII=XAIL)
154,000& »22H » 128 40,656
OMS =223 SAHI(XIXHA)
154,000 = 12H 128 22,176
OMI=R2R M2 E 700
FOMEST2AME A JIBEY 22,000 19,800 2,200
FRU=XXA 22,000 19,800 2,200
201 ¢4 16,000 14,800 1,200
01 At 2t 2l 16,000 14,800 1,200
OMSSNLYBRY 2YUD
200,000& x80H 16,000
203 YR =&l 3,000 3,000 0
03 AIMF=XH R =AY 3,000 3,000 0
OFQ=R AI#Z=2A 250,000& =128 3,000
301 et a = 3,000 2,000 1,000
09 &AL HI B &S 3,000 2,000 1,000
Ostdlolet A & A 2 a4t 50,000& 60 3,000
Z0e EXNsd 12,175,079 10,869, 864 1,305,215
= 6,146,414
< 1,515,205
Al 4,513,460
Zofel Mape S22 sX & 6,914,732 6,517,493 397,239
= 4,407,583
< 766,573
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Al 1,740,576

ooz =20 XNSB(EX) 3,053,368 2,963,489 89,879
= 2,137,358
= 274,803
Al 641,207

301 LBt A= 3,053,368 2,963,489 89,879
= 2,137,358
== 274,803
Al 641,207

01 Al E & A 462 3,053,368 2,963,489 89,879
OHMAZ K= 3,053,368
= 2,137,358
o 274,803
Al 641,207

ZOHEE(II=) NS(BEX) 467,811 553,826 AN86,015
= 327,468
= 56,137
Al 84,206

301 et A= 467,811 553,826 N86,015
= 327,468
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Al 84,206

01 M EXE 452 467,811 553,826 N86,015
QFMLEY XS (JIx) 467,811
= 327,468
&< 56,137
Al 84,206

S (XA S) AS(EX) 356,282 287,337 68,945
= 249,397
== 42,754
Al 64,131

301 LBt A= 356,282 287,337 68,945
= 249,397
= 42,754
Al 64,131

01 Al E & A 452 356,282 287,337 68,945
OXEMHEEY XS(Xatel) 356,282
= 249,397
= 42 754
Al 64,131

Zofele 2| KNA(BEX) 135,172 123,860 11,312
= 108,137
& 10,814
Al 16,221

307 gizto| & 135,172 123,860 11,312
= 108,137
& 10,814
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Al 16,221
11T A EXAIEEX 135,172 123,860 11,312
OZ0ofel of2dl N 135,172
= 108,137
o= 10,814
Al 16,221
NASAOMC M| 2 HAH X2 (E=X) 3,600 5,704 A2,104
= 1,800
=} 720
Al 1,080
301 et A= 3,600 0 3,600
= 1,800
= 720
Al 1,080
01 AMFSIEXEE 4562 3,600 0 3,600
OHMe SEXCH K& 3,600
= 1,800
& 720
Al 1,080
BXIJRNE(EX) 3,914 14,147 N 10,233
= 3,130
&< 313
Al 471
301 et A= 3,914 10,000 AN6,086
= 3,130
= 313
Al 471
01 Al E & A 462 3,914 10,000 N 6,086
OHOMQ HEEXDI|P N 3,914
= 3,130
o=} 313
Al 471
Z0e B £2dl X 10,000 0 10,000
307 QI2t0| ™ 10,000 0 10,000
11T A EXAIEEX 10,000 0 10,000
OXFOMe B&72 =2/d] X& 10,000
oI X & 120,000 120,000 0
307 212t0| & 120,000 120,000 0
02 QI2tAAMAIE E X 46,560 48,560 A 2,000
OXHMZOHCIES ALK& 15,000
OA2ZEHQIAS S Al K& 7,000
O=s0tel8s Ay X 5,560
OZHUERS At XS 8,000
OFL=ZHES AIY X 3,000
OMMAEOHCIE3 MY XS 8,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 BIAHMNHE2IHIEL 58,440 56,440 2,000
OXMEMASEZ 294 17,000
OA2ZHelIHE S 29 13,000
Osotelgsl 24 14,440
OHMAREEs 29 12,000
OdMEMLEZ 294 2,000
10 ALSISXAIEEE2EHEX 15,000 15,000 0
OZSMEINE 2L(SX) 15,000
oo & #ALXKRE 17,000 17,000 0
307 21201 A 17,000 0 17,000
11T A SXAIEE = 17,000 0 17,000
OHM373 &oiele & Jgstory 17,000
g XE0 & AZEMe =2XHa 4,000 14,000 A 10,000
307 gl2tol & 4,000 10,000 A 6,000
11T M SXAISE EX 4,000 10,000 A 6,000
ORHM3sal EX&E0le & Al2FMe =XHa
40,000& x100H 4,000
A4S AL XE 9,000 9,000 0
301 e A3 9,000 9,000 0
09 BALEHIE &S 9,000 9,000 0
O&= soteltisl HFA2a3 40,0003 65 2,600
Od= XNHMEOHS NENUE HAELS
150,000& x4 H 600
OM20a 8= XNMEML &z H#H2H=S
150,000& x4 H 600
OAZ2AZOIQ 8 N0l PHSY DA
10,000& 30 83| 2,400
Od= ZU siz=da FHEHS
50,000& x20H 1,000
OdS8IIsZIl el FHL2H=
20,000& x30H 600
Odsd & MFZXNE so0tel AIEX Mot
HEHAEHS 150,000& »8H 1,200
O LRl XA (Lt Xtel)(BX) 345,762 342,247 3,515
= 172,881
< 69,152
Al 103,729
307 glz2tol & 345,762 342,247 3,515
= 172,881
< 69,152
Al 103,729
11T M SRASE EX 345,762 342,247 3,515
OZOQ Letd LXel X 345,762
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= 172,881
< 69,152
Al 103,729

ORI LRl X2 (AR L X2l ) (BX) 57,624 0 57,624
= 28,812
< 11,524
Al 17,288

307 gl2tol & 57,624 0 57,624
= 28,812
< 11,524
Al 17,288

11T M SRASE EX 57,624 0 57,624
OZOHQ AIZFH & Xtel XI& 57,624
= 28,812
< 11,524
Al 17,288

oL Xl N (SXNLXel)(EX) 172,368 165,204 7,164
= 86,184
L3 34,474
Al 51,710

307 21201 A 172,368 165,204 7,164
= 86,184
=3 34,474
Al 51,710

11T MISXASEX 172,368 165,204 7,164
OHMe SXLAel X3A 172,368
= 86,184
= 34,474
Al 51,710

LT LABS A BT A (EX) 110,628 115,900 AD,272
= 55,314
< 22,126
Al 33,188

307 21201 A 110,628 115,900 A5, 272
= 55,314
< 22,126
Al 33,188

11T ALS S XAEE = 110,628 115,900 AD,272
OZEHM RAES A EXL Xt 110,628
= 55,314
< 22,126
Al 33,188

Zoel 2sXd=0 KAJ(EX) 1,572,648 1,513,254 59,394
= 1,100,664
< 188,718
Al 283,266

307 glz2tol & 1,572,648 1,513,254 59,394
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= 1,100,664
< 188,718
Al 283,266
11T AISIEXAIEEX 1,572,648 1,513,254 59,394
Ozl E=X4 1,572,648
2 1,100,664
= 188,718
Al 283,266
ZOHQIESEX IIIMBH(BEX 3,060 0 3,060
= 2,142
= 367
Al 551
307 2I2t0| ™ 3,060 0 3,060
= 2,142
=} 367
Al 551
11 A EXAIEE X 3,060 0 3,060
OHMe &KX 3,060
= 2,142
& 367
Al 551
ZoHel E=X/ & FIHANKA(BEXR 31,876 0 31,876
= 9,563
Al 22,313
307 2iz2to| A 31,876 0 31,876
= 9,563
Al 22,313
11T AISIEXAIEEX 31,876 0 31,876
OHMeI &S 31,876
=} 9,563
Al 22,313
o AtSIE=EX S 157,520 16,250 141,270
201 et 130,020 5,250 124,770
01 AP 22| d| 121,020 5,250 115,770
ORIdg A& 70,000) x9H x4 3| 2,520
OISR AR ot H| (ZH0H Q! = Xt
AEX WA) 2,500
OHMe dE=X = =X S 1,000
OXHZEOel HAE 3 LHEE2 10,000
OAZZEHCIEE AIRA 2dHES=Z2 10,000
OMMAEOHCIE S AMRA dHESS 10,000
0 & AlE MEE OIIIE 85,000
02 2224 H| 9,000 0 9,000
OHOMQ & Al HE=Es 2222 9,000
202 044l 4,000 3,500 500
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01 = LH 4 bl 4,000 3,500 500
OZOMY MEFXE F=XEH=H
20,0003 x2H 45 1,800
OZOHQ HoJAIE X XA
20,0003 »2H 55 2,200
301 et d = 4,500 7,500 A 3,000
01 Ml2EZE 6= 4,500 7,500 A 3,000
OFOHel Xofel AXNFE SHTI| MEBES 2,000
OAIZZHe SHeH ZFSAMEA XEAS 2,500
401 Al HI K 201 I 19,000 0 19,000
01 A& HI 19,000 0 19,000
OZOE & A& MEE BAAME JIs22H| 19,000
0RO THE L AMSIEO ME(EX) 91,420 86,696 4,724
< 26,017
Al 65,403
307 glz2tol & 91,420 86,696 4,724
< 26,017
Al 65,403
10 ALSISXAIEEE2EH EX 83,590 78,866 4,724
OZoe HAANE NAJMEH 2GS 46,877
< 12,657
Al 34,220
OAZZ0He EXtw= 6,713
= 2,014
Al 4,699
OFoHel Orstna 29 30,000
< 9,000
Al 21,000
11T M3 SXAISEEX 7,830 7,830 0
OFe dM2ET 7,830
= 2,346
Al 5,484
OEEMO ESAMHIEXNR(EX) 3,000 4,000 A 1,000
= 2,100
< 270
Al 630
301 et d = 3,000 0 3,000
= 2,100
< 270
Al 630
01 MEI2EZE+05l= 3,000 0 3,000
OWgHMe E4&HIE K& 3,000
= 2,100
= 270
Al 630
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307 21201 & 178,839 0 178,839
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35,766
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ARSI S XA E X 178,839 0 178,839
OZHOlES MHEIZ ALY 178,839
125,188

17,885
35,766

= N H

HHZLERE 2™ XA 8,640 0 8,640
6,048

864
1,728

= Hn W

307 21201 A 8,640 0 8,640
6,048

864
1,728

= M W
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OUUHEEXH ALY 8,640
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864
1,728

= MW
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168

= N W

307 glztol & 1,200 0 1,200
960
72
168

= W

1A SXAIE 2 = 1,200 0 1,200
OZgHMe s3=A gsHE & 1,200
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= MW

O SXAE 22X 4,677,843 4,342,371 335,472
1,510,757
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o SXAE SAL SEE(EX) 156,360 153,360 3,000
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307 21201 & 156,360 163,360 3,000
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< 46,908
Al 109,452
10 ALSISXAIEEE2EHEX 156,360 153,360 3,000
OHMASKAIE SAX S8 166,360
< 46,908
Al 109,452
i RILAS THEAME RI(EX) 2,315,988 2,192,188 123,800
= 455,879
Al 1,860,109
307 21201 A 2,315,988 2,192,188 123,800
< 455,879
Al 1,860,109
10 ALSISXAIEEE2IHEX 2,315,988 2,192,188 123,800
OF=N2 29 1,391,000
= 278,200
Al 1,112,800
OBNUEALSAL SA(0IASSAL 51,960
< 10,392
Al 41,568
OZMAFAES AL 2 (&22g4l) 29,664
< 5,934
Al 23,730
OXAFAEZSAIE 2 (212Ad]) 328,670
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